Power of a test – an explanation
Why do we perform a hypothesis test anyway?

We perform a hypothesis test because we suspect that the alternative hypothesis is true & we are trying to see if we have enough evidence to say just that!  Think about the murder trial – I wouldn’t go through the trial if I didn’t suspect that the defendant was guilty – likewise, I wouldn’t perform a test unless I suspect Ha is true.

Definition of power of a test

Power is the probability that I reject the null hypothesis when in fact it is false – or in other words that I correctly reject the null hypothesis.  Power is a conditional probability – it is conditional on a specific value for the alternative mean.

Three things affect the power of a test: 


Suppose Ha:  > ##
1) A change in the level of significance ()
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Click on the red line and move it left or right to see what happens to  & power as you change !

2) A change in the difference between the null & alternative means (0 – a)  
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Click on the yellow curve and move left (decreasing –a) or right (increasing –a) to see how , , and power change.

3) A change in sample size (n) 
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When the sample size increases, the curves get taller & thinner.  The significance level remains the same so the line (red) for the rejection region will move over.   decreases & power increase!








